
NON WINDER

POST

TRW75

EXTERNAL WINDER

TENNIS POSTS

GROUND SLEEVE

(100 PVC TUBE)

CONCRETE FOOTING

(SUITABLE FOR STIFF CLAY

GENERAL SPECIFICATION ONLY)

MAIN POST

WINDER POST

12800

COLLAR

1
0
7
0

PLAYING SURFACE

CABLE

CLAMPS

1
4
5
0

3
8
5

450

5
0
0

450

1
1
5

STAINLESS STEEL

CAPS

POST CAP

NOTE: GROUND

SLEEVE TO BE SET

WITH A SLIGHT

OUTWARD ANGLE

(APPROX 1°)

NOTE.:

ALL FOOTINGS TO BE N20 CONCRETE

FOOTING SUITABLE FOR CLASS

'S' & 'M' SITES ONLY AS PER AS2870.

RETRACTABLE

RATCHET WINDER

CABLE

CLAMPS

POST CAP

INACTIVE POST

ACTIVE POST

RATCHET

WINDER

M8 S/S

EYEBOLT

M12 X 25 S/S

BUTTON

HEAD BOLT

AND NYLOC

NUT

1. ATTACH THE ONE END OF THE NET ROPE

WITH EYE TO THE HOOK IN THE INACTIVE

POST.

2. PASS THE ROPE OVER THE GROOVE IN THE

INACTIVE POST CAP AND FEED THE OTHER

END OF THE ROPE THROUGH THE GROOVE

IN THE ACTIVE POST.

3. ATTACH THE ROPE TO THE RATCHET

WINDER AND USE ITS HANDLE TO TIGHTEN

THE NET.

4. ENSURE THE EYEBOLT IN THE IS PLACE

HORIZONTAL FOR EASY RELEASE OF THE

RATCHET HANDLE.

5. USE A PADLOCK TO SECURE THE RATCHET

IN THE EYEBOLT.

Oz Ring Pty Ltd

Trading as:

Play Hard Sports Equipment

ABN 79 066 094 559

24 Ern Harley Drive Burleigh Heads Qld 4220

Phone: (07) 5593 4494 Fax: (07) 5593 4338

Website: www.playhardsports.com.au

Email: email@playhardsports.com.au

sports equipment

1

1

-

PART QTY

-

-

-

-

-

-

-

-

TOTAL

PARTS LIST

MATERIAL LENGTH

FOR ONE PAIR

PROGRIP RETRACTABLE RATCHET

M12 X 25 MM S/S BUTTON HEAD BOLT,

NYLOC NUT

M8 S/S NUT, S/WASHER

M8 S/S EYE BOLT w/COLLAR

1

1

-

NO 330410

-

-

A 1 1450 MM75 X 75 X 2.5 MM SHS ALLGAL 1450 MM

D

C

2

2

B 1

980 MM

1450 MM75 X 75 X 2.5 MM SHS ALLGAL

WAVERAIL

POST CAPS STAINLESS STEEL

1960 MM

1450 MM

OTHER COMPONENTS

E 2 POST COLLARS

F 2 PVC SLEEVES 500 MM 1000 MM

TITLE:

DRAWN BY:

CHECKED BY:

DATE:

DRAWING NUMBER:

A4

SCALE AT A3:

TB

13/9/2021

AS SHOWN

ASSEMBLY 1 OF 1

REVISION:

TRW75 TENNIS POSTS 


	Sheets and Views
	Assembly


